
8-32 x 1/2"
(Use Existing Screws)

LOSA4446
Brake Stud

LOSA6306
4-40 x 3/16" Lock-Nut

LOSA4445
Brake Cam Bushing

LOSA6216
4-40 x 7/8"

LOSA6206
4-40 x 3/8"

LOSA6287
4-40 x 1 1/4"

Apply Losi-Lok™LOSI-LOK

Apply Losi-Lok™

LOSI-LOK
Apply Losi-Lok™LOSI-LOK

LOSA4444   -   SPLIT CENTER DIFFERENTIAL MOUNT

Thank you for purchasing the Team Losi Racing Split Center Differential 
Mount for the 8IGHT 2.0 and 8IGHT-T 2.0.  Here are a few build tips to ensure 
the best performance possible:

• Be sure to use Losi-Lok    on all screws that mate into the 
aluminum components 

• Make sure your linkage has free movement 
• Set the brake disc spacing as illustrated below

Replacement Parts List
LOSA4444 Split Center Diff Mount, 8B/8T 2.0  $79.99
LOSA4445 Brake Cam Bushing (2)   $2.99
LOSA4446 Brake Stud (4)    $6.99
LOSA6206 4-40 x 3/8" Socket Head Screw (10)  $1.99
LOSA6216 4-40 x 7/8” Socket Head Screw (8)  $1.99
LOSA6287 4-40 x 1 1/4“ Socket Head Screw (6) $3.99
LOSA6306 4-40 x 3/16” Lock Nut  (10)     $4.99
LOSA6350 #4 and 1/8”  Washer   $2.99

8.00mm8.00mm

3/16"
Lock Nut3/16"

Lock Nut

800-0412

Set the distance between the nut of the 
brake stud and the 3/16” lock nut to 8mm 
by adjusting the 3/16” lock nut.

Splash Guard 
(Fit Assembly Under 

Top Plate)

LOSA6350
1/8” Washers
(Install Washers Under 
the 5-40x3/8” BHCS)

™


